H & 0l & AHS B Ml A

S FRI= XD
Ha: XAAE ST H 2 (AEISKI/ A =R L)

ol NASI=X] HOH 2 (Shol: % 2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Fe=X 59,637,244 67,865,329 A\8,228,085
= 31,995,755
[ 2,777,011
Il 148,745
< 5,262,004
= 18,808,093
= 685,636
NSARISXEAM 2 (ARISX/ARIS XL 57,148 119,252 N62,104
= 10,740
= 46,408
KAt =X g2Hl =29 48,800 110,904 A62,104
= 8,000
Ea 40,800
=0 dERE MElA A= 500 2,500 22,000
201 er2 3| 500 500 0
01 AtR2te|HI 500 500 0
OFU=SIIAHIA EES S HE
100,000& %52 500
NSARISXE A 2S 3,500 35,500 A32,000
201 =3 2,000 2,000 0
01 At22telt] 2,000 2,000 0
OXISA2I = XE M AR 2
1,000,000& 1= 1,000
OXIG At SXE2AM et E2=2 M
500,000 22 1,000
301 EetE2 NS 1,500 1,500
11 #AIAHIXIE S 1,500 1,500
OXSAEISXEHAM 3lo&A g
1,500,000 1,500
==X H(FRFAHI) 4,800 3,600 1,200
203 HR=H] 4,800 3,600 1,200
M EAEgER=A 4,800 3,600 1,200
ORAN2ELRFTIHI(302!015})
400,000 1200 & 4,800
AMEIEXIEeE 24 40,000 40,000 0
s 8,000
s 32,000
307 @I2t01 & 40,000 40,000 0
[ 8,000
Ea 32,000
03 LM EE2SHIEX 40,000 40,000 0
Od=ZARI=XE e 2gH &
40,000,000 *1IH 2 40,000
= 8,000




2A:

=X

M RABI= T S (ASI=XI/AIEI= T
ol NASI=X] HOH 2 (Shol: % 2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
| | = 3,000
AMEISXIAIE XA 8,348 8,348 0
== 2,740
[Ea 5,608
ARISXAL BE2R E1SH| X2 7,168 7,168 0
< 2,150
s 5,018
301 EtE NS 7,168 7,168 0
= 2,180
= 5,018
14 DBt 2 a=S 7,168 7,168 0
OARRIS A HE2IR EuSsH| A&
56,0002 128 7,168
=S 2,180
s 5,018
MEISXAEEAA doilE2EE= X 1,180 1,180 0
== 590
= 590
307 elztol & 1,180 1,180 0
= 590
= 590
06 2= 1,180 1,180 0
OARISAIAIEZSAEL M20HE doi28 Xl
o 10,0002 x118H 1,180
= 590
o 590
20t & 22l 2 XNF(MEISX/EE) 817,882 1,164,074 A346,192
= 109,500
o 708,382
=t 28 2cl & A& 817,882 1,164,074 N346,192
= 109,500
o 708,382
SEUYA 22 & N2 91,027 121,450 A30,423
201 fer= 3| 2,200 2,200 0
01 At 2|l 2,200 2,200 0
052289 o #a0t HA
100,000 *7 4 A 700
O==2& |3A 2
100,000+ 15& 1,500
301 LEtE N = 6,000 6,000 0
03 AR 2 A FIS(XIYMHS) 6,000 0 6,000
O=IIaakt & 75 2=
100,000 x20E 32! 6,000
307 212+01™ 82,827 113,250 30,423
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SN OISR D
M 2 2& 22l E XNF(MEIEX/EE)
&2l 20 22 2el € X& (SH &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Ogol=g 120,000 x262Z * 1200 & 377,280
OAg®IZ3 200,000 %30 6,000
Helge 3#MRSA 2 RS2 i NF 97,200 71,760 25,440
s 97,200
301 EtE NS 97,200 71,760 25,440
= 97,200
01 Al 2E A S(EREXME) 97,200 71,760 25,440
Odcted HFMKFSA i<
30,000 270120 2 97,200
= 97,200
SEHRINL & RSE 2zdl KA 1,000 1,000 0
& 300
Ea 700
301 LEIEE S 1,000 1,000 0
S 300
= 700
01 ARIE2EHSFS(RRNEERTHE) 1,000 1,000 0
O=SgRaA & FEAIIE 2gH| N
500,000 »2H 1,000
= 300
Ea 700
dtd 2E2g0E 12,000 0 12,000
< 12,000
301 EtE N = 12,000 0 12,000
= 12,000
01 AR 2EHSHS(RNEXRTHE) 12,000 0 12,000
OFlEE 22U+ X
20,0002 x50 * 1204 12,000
= 12,000
22312 24 2 72,715 0 72,715
307 elztol & 72,715 0 72,715
04 QIZHHAIAIRH 2 & 15,000 0 15,000
OdEF B2CHgols 208 23|
15,000,000 *10H 2 15,000
05 2I2tRIE =S 57,715 0 57,715
OIIZINZ2RHE LA AFRE) 14|
28,719,840« 1 28,720
OJIZMZZXHAIRZIHI AFR&) 2124H]
10,654, 7203 1 10,655
odIIea 500,000 1294 & 6,000
O3 30,0003 * 12043 360
Ostes 150,000 x 1204 2 1,800
Osd)| etdae| 89
200,000 * 1204 & 2,400
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2A:
X XH -
o e

el

Ofl &F2H

MEE
Ofl &k2h

g9 150,000 * 1204
(=]}
165,000 * 1204 &

2,000,000 10 2
2,000,000 *1JH 2~

1,800

1,980

2,000
2,000

KNI HALS| AMHIAS M AL (AFZ| S X/ FH AHSXI)

Mo

554,79
443,839
33,288
77,672

623,930

69,131

NAAS MEIASAALS

Ao A

554,799
443,839
33,288
77,672

623,930

269,131

KNS A2 MEIA SXALS

HH A

501,924
401,539
30,115
70,270

618,550

116,626

307 212t01™

HOH

501,924
401,539
30,115
70,270

617,550

A115,626

05 CIRt9IEra
OXIHAIBI MHI A SXFAS
501,924, 0002

HoH A

501,924

501,924
401,539
30,115
70,270

617,550

A115,626

oA

5,375
4,300
323
752

5,380

YANG)

307 212+01&

Mo A

5,375
4,300
323
752

5,380

VANG)

5,375,000&

Moo

5,375
5,375
4,300
323
752

5,380

YANG)

SRR

47,500
38,000
2,850

47,500

o
|




fA: ==X

A XM MHIAS A (AR SXI/FHAAHASKIH)
=Rl NSARI MBI A AALS (Cre|: ®M2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
[Ea 6,650
307 gl2tol & 47,500 0 47,500
[ 38,000
= 2,850
= 6.650
05 212t =S 47,500 0 47,500
OIAHE S ZXE AL
47,500,000 1 47,500
[ 38,000
= 2,850
= 6,650
ZOHR! =X S (MRS R/FHAHEXA) 6,930,676 6,784,570 146,106
= 3,221,615
= 803,443
o 2,798,964
= 106,654
Z0Hel Moty XA 5,035,665 4,797,239 238,426
= 3,221,615
< 502,920
[Ea 1,204,476
= 106,654
o 2=l 33,100 33,100 0
= 26,480
= 1,986
= 4,634
301 EtE N = 33,100 33,100 0
= 26,480
< 1,986
s 4,634
01 A2 HSHS(RRNEERTH) 33,100 33,100 0
Ol 2l=Hl XI&H 33,100,000& » 1= 33,100
= 26,480
< 1,986
[Ea 4,634
o LT e X (L Rtel) 461,334 461,334 0
= 219,167
== 65,750
[Ea 153,417
= 23,000
101 @1A4H| 461,334 461,334 0
= 219,167
= 65,750
= 153,417




SN OISR
3 ZOH SA ST(ARISX/FHSAHSKE)
Celr ZOoHe! MEotE X (St &)
SA - B BRA(SH) - HRA - of v e HIDE2
= 23,000
BIESEENEEES 461,334 461,334 0
OBOJO! #E T20INY 2R
461,334,000& 1 461,334
= 219,167
= 65,750
Ea 183,417
= 23,000
oL X2l X (SXLRel) 198,889 199,865 A976
= 67,618
[ 20,285
T 47,332
= 63,654
101 21A4H| 198,889 0 198,889
= 67,618
= 20,285
o 47,332
= 63,654
M JIZtHZ2 RS2 198,889 0 198,889
OOl LXt2IALY 12|
198,889,000& » 1= 198,889
= 67,618
S 20,285
[Ea 47,332
= 63,654
ZOHQI L Kt  XI& (AR Xt2l) 96,600 96,600 0
= 48,300
= 14,490
Ea 33,810
101 @12A4H| 96,600 96,600 0
= 48,300
= 14,490
= 33,810
M2 NHSE 96,600 96,600 0
OZOHAAFE 0! AR (AIZHHI)
13,800, 000& x7H 96,600
= 48,300
= 14,490
= 33,810
SOIE ZO0H =8 A X2 46,600 77,000 /30,400
= 13,300
= 3,990
= 9,310
= 20,000

-
|




od
i’
oF
uJ

)

[SXI/FHAASKE

t3l
2

m m (e} (e} (e} [e] o [e] ()
< <
a8 K
z_uﬁ_v < <
=
B
S S Q & Q & & & =
S S N N N © © © S
e | S - - - @ B @ =
w3)
KIS
S8 8 2 818 S S8 8 XTIFKNETETD S|Q XTI SELSSEIERSS BIE 5 K 8 bB|lE8 5 N
T ® M8 © M mS|do = FINo-F|Id o= FloddFoddNo ©dAdAT[S 0~
§ECSFe €20 g- . - FELHgerEB LR RTEE
al
<
S
oW ek oM ok W oW oW oW i o i
) ) )
5 5 I
or
X0 > foe) [y
) g 5 B
: = _®- 8
D W = W
= ~ ® - = D =
It W R ® Kl =< K
5 = R { A iy
- 2= 2 oo W om —
= o & = — 3T T K U
= q A0 3 T >
= iy SJ ok ol B Ky m.w
oF ] mm”% _ <k A_vm <V
o =2 = o MM o R~ at
bl il £ hd go U m pd g0 00 0
= |= = K R E i o i H H <+
_uo oy 33 r 7 o o n ol o S -
RO &) zl o o oll = RO 0 oll = R b0
. g © ol 5 5 © $ 5 5 © e
H < = (ep] = (ep] =
o o [e)
I+ R0 K0 R0




2A:

3 ZOH SA ST(ARISX/FHSAHSKE)
Celr ZOoHe! MEotE X (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
301 EtE NS 177,011 177,011 0
= 123,908
== 15,931
[Ea 37,172
01 AR 2EHSHS(RNEXRTHE) 177,011 177,011 0
OROH(0HE)4SH(XINFI S) X3
177,011,000 1 177,011
= 123,908
== 15,931
o 37,172
gofelois =0 K= 1,624,687 1,624,687 0
= 1,137,281
== 146,222
o 341,184
301 22N = 1,624,687 1,624,687 0
= 1,137,281
= 146,222
o 341,184
01 Al EE A S(FRDEXA) 1,624,687 1,624,687 0
OIS 20! N3
1,624,687,000& 1 1,624,687
= 1,137,281
= 146,222
o 341,184
ZoHe! s XA 1,562,597 1,402,790 159,807
= 1,093,818
= 140,634
[Ea 328,145
307 gl2to| & 1,562,597 1,402,790 169,807
= 1,093,818
= 140,634
= 328,145
05 212t =S 1,562,597 1,402,790 159,807
OZoje 2sXa 26X
1,562,597,000& * 1 1,562,597
= 1,093,818
= 140,634
= 328,145
BSEX OH 20 22,7%4 12,618 10,136
= 15,928
= 2,048
= 4,778
307 elzto| & 22,754 12,618 10,136
= 15,928
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2A:
PSER
o e

el

Ofl &F2H

H
ol &y

M H

21,344
6,403
14,941

101 2124d|

M

21,344
6,403
14,941

21,344

04 JIZtNZ22 XS 2+
OFOH! BaAAL AEj& AL

21,344,000& 13

M

21,344

21,344
6,403
14,941

21,344

BIEERON Ol 2SS AHH|A X2

HH W

328,932
230,252
29,604
69,076

260,892

68,040

307 212t01&

Mo W

328,932
230,252
29,604
69,076

260,892

68,040

OZLROYO! FABSMHIA BIRH KR

328,932,000 14

MW

328,932

328,932
230,252
29,604
69,076

260,892

68,040

SEHR U= SSMHIA X

MW

88,808
62,165

7,993
18,650

84,389

4,419

307 212+01&

MW

88,808
62,165

7,993
18,650

84,389

4,419

OgLH = SSAHIA BIRX Al

=
& 88,808,000& * 1

Mo W

88,808

88,808
62,165

7,993
18,650

84,389

4,419

LR AIBSIFHEZOY(ME=2Y) XA

M

9,000
2,700
6,300

9,000

307 212+01&

in

9,000
2,700

9,000
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SN OISR
3 ZOH SA ST(ARISX/FHSHSKE)
el ZoHe! BHHl X3 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 At2t2ltl 1,440 1,440 0
OXIHZ NI HOIETHE 20IHHIBH 2
== 120,000& * 12043 1,440
AMEoeIgal 2el 29 5,000 5,000
201 fet=2 3| 5,000 5,000
01 AtR2t2|HI 5,000 5,000
OXMEMIES Al 22
5,000,000& 1 5,000
ZOHA=SXAL2SRIE 1,685,888 1,828,488 142,600
S 276,532
= 1,409,356
gFojelsssia =24 1,322,508 1,322,508 0
= 213,49%
o 1,109,012
307 elzto| & 1,322,508 1,322,508 0
= 213,4%6
o 1,109,012
10 AlRISXAZEE 22X 1,322,508 1,322,508 0
OZ0jel Se=X2 23|
1,221,708,0002 10 2 1,221,708
< 183,256
[Ea 1,038,452
OHfeI=X2 SAHl X2
100,800,000 *1IH 2 100,800
= 30,240
Ea 70,560
FofeISE=EN2 SSY 23| 50,000 50,000 0
201 fer=3| 5,000 5,000
02 s3=gHl 5,000 5,000
O SE=A2 2= |RA2/H
5,000,000 * 104 2 5,000
307 lztol & 45,000 45,000
10 Al2IS XA EEE 22X 45,000 45,000
OBMRIZH=NT 22 22|
45,000,000 * 100 2 45,000
ZHUSXAIE SA SE-E 34,560 34,560 0
=S 10,368
s 24,192
307 @I2t01 & 34,560 34,560 0
== 10,368
[Ea 24,192
10 Al2ISTIAIEEE 22X 34,560 34,560 0
Ol SXAE SAL SE+¢
1,080,000& +32& 34,560




fA: ==X
M ZoHel SX SE(ASISKI/FHAHSKIH)
Cel: HOHISXAIE2Z A

RN - I BRA(E) - HRA - BES of v A

10,368
24,192

A H

Zoiel=otSAUE 2 224,380 224,380
45,876
178,504

M

307 212+01™ 224,380 224,380
45,876
178,504

M

N ERNEEEEETIEES 224,330 224,380
O*0{SAME 2|

219,380,000 14 2 219,380
43,876
175,504
O+0{ma 2| 5,000, 0002174 2 5,000
2,000
3,000

A H

M

Zoje! ssdEHy 29 53,000 53,000
6,360
46,640

M

307 212t01& 53,000 53,000
6,360
46,640

M H

10 Al SXAIEEHE 22X 53,000 53,000

53,000,000 * 104 2 53,000
6,360
46,640

M

\J
=

ANE SAL S8+ 1,440 1,440
432
1,008

bl
[z
H
r

Mo

307 212t01& 1,440 1,440
432
1,008

M

10 AlIZXA LB 22 1,440 1,440
OFOHUINT U HABAAL SAK Sg
ag 1,440,000 1% 1,440
= 432
2 1,008
TFZOHQ HOIAA XANME 29 59,953 59,953
= 11,991
2 47,962
KIZIZOHO! HMOAIS NRHME 2% 59,953 59,953
= 11,991
2 47,962




SA FUS
B Rl =X SH(ASIZX/FHAHERR)
cHel: IHEOHO BOlAlE KBME 29 (Shol: % 2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
307 lztol & 59,953 59,953 0
= 11,991
= 47,962
10 Al SXAAEEHE2EHI2x 59,953 59,953 0
OZMQAEYSED|=XRLEH 2
59,953,000 *1IH £ 59,953
=S 11,991
s 47,962
S KR AG (A= X /FHAHESXR) 878,614 758,831 119,783
= 383,734
[ 40,207
T 454,673
S EFAS 878,614 758,831 119,783
= 383,734
== 40,207
o 454,673
SN 452,462 363,413 89,049
= 361,969
S 27,148
o 63,345
301 EtE NS 452,462 363,413 89,049
= 361,969
= 27,148
[Ea 63,345
01 Al EE A S (2 DEXR) 452,462 363,413 89,049
O2s=X XNEAME 452,462,000 1 452,462
= 361,969
= 27,148
= 63,345
A Xt X HAAZ A KIS 5,000 5,000
201 fer23y| 3,000 3,000
01 AtR2t2lHI 3,000 3,000
O™SIAIZ AT Al MEZDZ
1,500,0002 23] 3,000
301 22N 2,000 2,000 0
03 A 2E A5 Z2 (XL THE 2,000 0 2,000
OglA Xt Aotoidl 24 50,0003 *40H 2,000
ANSX=2RE 24 63,590 63,590
201 er23 | 1,100 1,100
01 At2teltl 1,100 1,100
OA =223 SENA
20,0002 30 600
O2Y Ma=2R3 ¥
100,000& +5& 500

_17_




2A:
Xz 2|

(AFZIEX/HAHESRR)

chel: 21

ol &rey

MEE
Ofl &k2h

62,490

62,490

154,000& 30120 &
jI.OI Hl
100,000 *30&

135,000& *30H

62,490

55,440

3,000

4,050

62,490

o
™
o
=
R

314,032

314,032

T [ HO

pall Pl

314,032

314,032

M
40

F0 FO O
M0 o
0

o

S

0 40 40

FO | o0l
[0
H
0z
oy

=

O Ji oy

o O

276,916,000&
4,068,000
33,048,000

314,032
276,916
4,068
33,048

314,032

|

0
>
it

HoH W

43,530
21,765
13,059

8,706

12,796

MW

43,530
21,765
13,059

8,706

12,7%

43,530,000& « 14

MW

43,530

43,530
21,765
13,059

8,706

12,79

MEOrE X (ASISXI/JI=MEEH)

(Y]

S

M H

10,726,381
7,820,544
82,216
25,000
938,317
1,860,304

8,177,016

HH W

8,161,327
6,482,696
800,337
878,294

6,355,937

o
i
>

on

al
o
x
E

>

2,700

2,700

-

he}
(]
=

rc

2,700

2,700

S
0H | Mo
0

pall
op

O

O
ball

o

02 ] 02
g =

Ho| Ho

=

30 40
R i |

2ty

1,500,000& 14
1,200,000& 1

2,700
1,500
1,200

2,700

-

x

Ol

ki
]0o
el

o
al
|

3,267

3,267
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SN OISR
M NASES Mol NJ(MIASX/OIZNEEH)
BHel: NASS JIZMEEH (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
201 er23 | 3,267 3,267
01 AlR2teldl 840 840
OMASHANZ(SBN, R4) B8+
2 840,000 » 1= 840
02 S3=gHl 2,421 2,421 0
Odi=es M &&= 120,000& * 14 120
OdiZes e1BIRE &5 23 2,307
—gpted 1,260,000& 1= 1,260
—SJ1d 1,047,000 14 1,047
HAS0 7,942,020 6,141,242 1,800,778
= 6,353,616
= 794,202
= 794,202
301 EtE N = 7,942,020 6,141,242 1,800,778
= 6,353,616
[ 794,202
T 794,202
01 AR 2EHSHS(RNEERTHE) 7,942,020 6,141,242 1,800,778
OdA=N 7,942,020,000& x 1= 7,942,020
= 6,353,616
== 794,202
o 794,202
MEsy= 11,990 10,000 1,990
308 XtXIEMSOIE 11,990 10,000 1,990
08 w=J|20Het 2 11,990 10,000 1,990
Ousg0 2 FE= 11,990,000 11,990
ol ZM=0 61,350 58,728 2,622
= 49,080
== 6,135
= 6,135
301 LEtE NS 61,350 58,728 2,622
= 49,080
< 6,135
[Ea 6,135
01 AR 2EHSHS(RNEXRTHE) 61,350 58,728 2,622
Oofl &, ZHIZ 04 61,350,000 *1 61,350
= 49,080
s 6,135
s 6,135
ez MASFL ALz X2 60,000 60,000 0
301 LEIE NS 60,000 60,000 0
02 AR 2EH LGS (FHAAS, XNLWE) 60,000 0 60,000




SN OISR
M NASES Mol NJ(MIASX/OIZNEEH)
BHel: NASS JIZMEEH (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
ONEZ HASFE ALFHEXS
60,000,000& * 1= 60,000
NASE =20 &l 80,000 80,000 0
= 80,000
301 EtE NS 80,000 80,000 0
= 80,000
01 Al EE A S(FRNEXH) 80,000 80,000 0
O ZMESHLSTT BT0I S|
80,000,000& *1 80,000
= 80,000
NASS AAE X2 1,586,406 1,570,855 15,551
= 1,330,348
= 79,271
Ea 176,787
A2 Z At 149,597 138,567 11,030
= 134,650
= 4,470
= 10,477
101 @124H| 149,597 138,567 11,030
= 134,650
< 4,470
T 10,477
M ORIMZZ2NSE S 149,597 138,567 11,030
OXERZ AL 212
149,597,000 » 1= 149,597
= 134,650
& 4,470
Ea 10,477
HE22AH 249 3,000 3,000 0
= 2,700
< 0
[Ea 210
201 =3 3,000 3,000 0
= 2,700
=S 0
s 210
01 AtR2te|Hl 3,000 3,000 0
OXEZZAY 24|
3,000,000& 1= 3,000
= 2,700
=S 0
s 210
WedI=sd 6,176 28,6%6 N22,520
= 4,941




M Eel=x s
M NASES Mol NJ(MIASX/OIZEEH)
el NASE UHEIE A (SH &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 371
s 864
307 lztol & 6.176 28,696 N22,520
= 4,941
== 371
[Ea 864
11 AMEISXAEEES 6.176 28,6%6 N22,520
ougsI=s% 6,176,000 »1& 6.176
= 4,941
=S 371
s 864
K&t Abell2tel 31,700 30,992 708
< 9,510
s 22,190
307 glztol & 31,700 30,992 708
= 9,510
= 22,190
10 Al SXAAEEHE2EHI2x 31,700 30,992 708
ORXH Atefl 228l 31,700,000 » 1= 31,700
= 9,510
o 22,190
AEX2HE 2SN 251,066 239,545 11,521
= 175,746
= 25,107
[Ea 50,213
307 gl2to| & 251,066 239,545 11,521
= 175,746
= 25,107
= 50,213
10 Al SXAAEEHE2EHI2x 251,066 239,545 11,521
OXg e 24|
251,066,000 14 251,066
= 175,746
= 25,107
= 50,213
NS REHE SALA S84 6,480 7,560 21,080
= 1,944
o 4,536
307 @120l & 6,480 7,560 1,080
== 1,944
o 4,536
10 AlRISTIAEEE 22X 6.480 7,560 21,080
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SN OISR
M NASES Mol NJ(MIASX/OIZEEH)
gelr NASS Mg XY (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OXIREHE SAX SE+E
1,620,000 x4 6,480
= 1,944
Ea 4,536
NS A2 HE 2RSS 1,015,404 1,015,417 A13
= 913,925
= 30,400
[Ea 71,079
307 el2to| & 1,015,404 1,015,417 A13
= 913,925
S 30,400
= 71,079
05 2IHRIE S 1,015,404 1,015,417 A13
OXEZZAY 2I2tRE3
1,015,404,000& » 1= 1,015,404
= 913,925
& 30,400
= 71,079
SIY M= AHZEH 18,941 3,253 15,688
= 15,183
< 1,136
s 2,652
307 glztol & 18,941 3,253 15,688
= 15,153
== 1,136
[Ea 2,652
11 AMEISXAEEES 18,941 3,253 15,688
O3 M=HZEH 18,941,000 1 18,941
= 16,153
=S 1,136
s 2,652
SIYNM=AHE2 8,680 3,931 4,749
= 6,944
=S 521
s 1,215
307 @I2t0| & 8,680 3,931 4,749
= 6,944
= 521
Ea 1,215
1 AMISXAEEXS 8,680 3,931 4,749
OsIYMEAH %2 8,680,000 * 1 8,680
= 6,944
= 521




2A:
X XH -
o e

=aak

>

I

[ (AMEISX /I ZMEEE)

{I
x
0
Ja
o

AA(BH) - MRA

- HyS

Ofl &F2H

MEE
Ofl &k2h

H

1,215

MW

12,999
10,399
780

9,812

3,187

307 212+01™

Mo W

12,999
10,399
780
1,820

9,812

3,187

11 AR S XA E X
2

OFEULME A ZH(XHA 2015

12,999,000

Mo W

12,999

12,999
10,399
780
1,820

9,812

3,187

02
m
o
ne
>
]
>
[
>
0z
0
]
[

Mo W

82,363
65,890

4,942
11,531

33,755

48,608

307 212told

H H W

82,363
65,890

4,942
11,531

33,755

48,608

11 ARRIZXAIE 2=

OFH L MEHE (XA =D

82,363,000

HH W

82,363

82,363
65,890

4,942
11,531

33,755

48,608

S W

A H

402,109
7,500
82,216
25,000
58,709
228,684

250,224

151,885

>
o
il
Ho
02

700

700

o
T
M0
08

700

700

2|2
w© o
el
]
o=

J
il
il
10
ful

700,000 12

700

700

700

SSARI=SX dEMAOHS

Mo W

15,000
7,500
2,250
5,250

15,000

_23_




SN OISR
M NASES Mol NJ(MISX/OIZEEH)
ol Qe XA (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
201 er23 | 10,000 10,000 0
= 5,000
== 1,500
[Ea 3,500
01 At22telt] 10,000 10,000 0
OAtell2tel 23| 10,000,000 *1 10,000
= 5,000
=S 1,500
s 3,500
301 2eEN= 5,000 5,000 0
= 2,500
=S 750
s 1,750
01 Al EE AL S(FREXMH) 5,000 5,000 0
OAtell2el XI&tl 5,000,000 1 5,000
= 2,500
= 750
[Ea 1,750
0= SXNAMHIA XHEXE 3,200 3,200 0
201 et 3| 3,200 3,200
02 s3=gHl 3,200 3,200
OO0t SN 27U
2,000,000 1= 2,000
OX0bts SXXtg FAl2c]
100,000« 1CH+ 12002 1,200
SHs XEE SEMBIL XE 69,057 58,800 10,257
[ 48,340
= 2,07
= 18,646
201 Ler=23| 34,528 29,400 5,128
= 24,170
< 1,035
= 9,323
01 At2tlt] 34,528 29,400 5,128
O=Hs XEE SEAHIL 23|
34,528,000 1= 34,528
= 24,170
[ 1,035
T 9,323
301 EtE NS 34,529 29,400 5,129
= 24,170
[ 1,036
Ea 9,323
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SN OISR
M NASES Mol NJ(MISX/OIZEEH)
ol Qe XA (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 A2 HSHS(RRNEERTH) 34,529 29,400 5,129
OsHs ¥58 SEAHIA NHA
34,529,000 x 1= 34,529
= 24,170
< 1,036
= 9,323
S% AFAISXEH 29 21,400 21,400 0
201 Ler=23 | 7,000 7,000
01 At2teltl 7,000 7,000
O8H8 XN9A=12E g2 =24
1,000, 0002 «7= A 7,000
301 LEtE NS 14,400 14,400
11 AALAHIXIES 14,400 14,400
OSY XNgA2I2E X 22 &4
30,0003 x120& *43] 14,400
SEAtAIZ2I AR 2124H]) 97,752 91,624 6,128
= 33,876
== 3,388
[Ea 60,488
101 e124d| 74,792 91,624 16,832
= 33,876
=S 3,388
s 37,528
03 SR (RIH )22 U2+ 74,792 91,624 /16,832
OSEAtddl2elAt Q2
37,396,000 x2& 74,792
= 33,876
= 3,388
o 37,528
202 04| 1,000 1,000
01 =LHOLI 1,000 1,000
OSEAHIZ2IAL 22 SF0it]
100,000& x2& *52] 1,000
04 HASRE2SS 21,960 21,960
04 SR (RIHA)22N BE=RES S 21,960 21,960
OSEAtdIZelAl AlRlEEE R S XNES
S 915,000 x2&* 12042 21,960
fclsUliZA SIDISH 284 170,000 59,500 110,500
== 51,000
o 119,000
301 2= 170,000 59,500 110,500
< 51,000
= 119,000
01 AR 2EHSHS(RDNEERTHE) 170,000 59,500 110,500

_25_




FA F2US
M LSS MBOY NY(AMISNIIZLEE)
el DIMotE X (EEEE))
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OS2SUIHZA ZXDISH 2SN
170,000,000& * 1= 170,000
= 51,000
Ea 119,000
LelsUliZAL SXDISH 2E(=dII2) 25,000 0 25,000
Il 25,000
301 EtE N = 25,000 0 25,000
Jl 25,000
01 Al 2E A S(SRNEXMH) 25,000 0 25,000
S SUITHZAL SIS SRIISA
25,000,000& *1 25,000
Il 25,000
LR X 576,539 0 576,539
LHRHH XI= 576,539 0 576,539
701 JIEHRIHNSEES 576,539 0 576,539
01 JIEI AN ES 576,539 0 576,539
OSI2Z0iME SE3 HE3
576,539,000 1 576,539
FOURXIDIBHR2SH AN = X1/ AFSI S X Bt 360,756 353,060 7,6%6
= 32,350
= 10,810
Ea 291,5%6
= 26,000
NHRASMES 360,756 353,060 7,69%6
= 32,350
== 10,810
o 291,596
= 26,000
KR SAIE 2L(Q1248]) 77,040 65,040 12,000
= 31,020
o 46,020
101 21AH| 77,040 65,040 12,000
= 31,020
o 46,020
03 SR (RIH )22 U2+ 45,020 0 45,020
OXHES A 2OIUI0IE 12|
31,020,000 *1& 31,020
= 15,510
= 15,510
OXESA 2CIUIOIE AtslE8E 2 &R
SR 14,000, 00021%1% 14,000
04 JIZtN2 2N S 2+ 32,020 65,040 A33,020
OXr&S AL 2CIUIOIE 1A
32,020,000 *1 32,020

_26_




SA FUS
3 FOUXXI|HZH ARSI/ A2l =X 2B
=Rl NESAHE (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 16,510
s 16,510
N SAE 29 243H(EX) 13,370 13,370 0
= 4,010
Ea 9,360
201 er2 3| 9,500 9,500 0
=S 2,850
s 6,650
01 AFS2t2ltl 9,500 9,500 0
OXESAtHE 28 243 EX)
9,500,000 1= 9,500
< 2,850
= 6,650
206 MH=Hl 3.870 3.870 0
= 1,160
Ea 2,710
01 M=4l 3,870 3,870 0
OXsE, JIsg HdENASAL XE
3,870,000 *1&H Xl 3,870
== 1,160
o 2,710
NSNS 2835 68,310 78,255 A9,945
201 el 9,270 9,215 55
01 At2t2ltl 8,430 8,375 55
OXtESAt 285t S22 M
1,600,000& %1 1,600
OXHESALR WFZAL =&
500,000 42| 2,000
OXESAHHE HA&EH & 225 7Y
225,000& x102] 2,250
OXNESAHE 24|
2,000,000& %1 2,000
Os= S AHIH 3l
580,000 *12 580
02 s3=gHl 840 840 0
OXNESAIE SE2=
70,000 * 1294 & 840
206 M=l 15,000 15,000
01 MZH| 15,000 15,000
OsAEsXIZE MEt
15,000,000& *12] 15,000
301 EtE NS 24,040 24,040 0
11 ALEBIXIE S 16,040 24,040 28,000
ONHESAHA 282 € W= 24
530,000 82 4,240
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Q=K1
FOIXERID B2 BHALEI S X/ AFR| S X 2B
PNEE=INESE= (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OXEsAEs ol sS4l
7,000,000& 1= 7,000
ORFRIZ A SR
1,200,000 *432] 4,800
14 J|Et2a s 8,000 0 8,000
ORASAR A
10,0002 %808 102 8,000
307 elztol & 20,000 30,000 10,000
04 QIZHHAMAMH 2 & 20,000 30,000 10,000
OXtESAEs X 20,000,000& » 1= 20,000
HeSAgs 24aH(EX) 2,660 2,660 0
= 1,330
s 1,330
307 @I2to| & 2,660 2,660 0
= 1,330
[Ea 1,330
6 2= 2,660 2,660 0
ONASAL 282 X
2,660,000 1= 2,660
= 1,330
= 1,330
0IS=E SAH 24( 115,655 110,014 5,641
101 @12A4H| 115,655 110,014 5,641
MU IRNZZ2NSE 115,655 110,014 5,641
O0ls==F =20 112,455
—JlZ2s 9,620 x255 2L x4 H+BA| 2+ 78,500
-5+ 76,9602 4 & x532 16,316
—Al2l282 220,000 x4 * 12042 10,560
—SEFIHI 500,000 x4 H*23] 4,000
—CItE &I 76,9603 x4 10! 3,079
O0IS=EER0| 285 A
300,000& x4 H =22 2,400
O0IS=EE201 =AXNSE £H0]
10,0002 x4+ 10JH & »23] 800
Ol=== A 2E 14,441 14,441 0
201 ger=3| 14,441 14,441
01 AtR2te|H] 5,384 5,384
OlI=S==ES 200,000& *102] 2,000
Ools=sxte 94,0003 *362] 3,384
02 S5=2g4l 9,067 9,067 0
OoIs==ite d St
1,560,000& 14 1,560
Oools=site
4,560,000 14 4,560

_28_




SA: FoI=X D
3 FOUXXI|HZH ARSI/ A2l =X 2B
ol NESARE (SH9 H2)
SA - ZE - B2(30) - HRAS of v e HIDE2
ools=sag Sx2ell
2,937,000 *1CH 2,937
ZFod3 249 X 60,000 60,000 0
= 6,800
o 27,200
= 26,000
307 elztol & 60,000 60,000 0
= 6,800
Ea 27,200
= 26,000
10 AlRISTIAIEEE 22X 60,000 60,000 0
ONTZCHT 2oyl X
60,000,000& » 1= 60,000
= 6,800
[Ea 27,200
= 26,000
0Pt 2= MHIA 2E 9,280 9,280 0
201 Ler23| 9,280 9,280
01 At2teltl 9,280 9,280
OFO0PI= U= MHIA E2= HA
300,000 %12 300
OO0t 2= AMHlA 23|
25,0003 *42]* 1201 2 1,200
OROIME MHlA T2 22 AN (B
LH) 110,000& »382 4,180
OROI#= MHlA T2 2 ANR(E
T) 150,000& *243] 3,600
COISXET(ARIEX/ ol - EAd 39,190,468 49,159,803 29,969,335
= 20,497,512
[ 2,250,956
Jl 123,745
< 3,315,699
[Ea 12,448,574
= 562,982
Colgitel XA 10,487,200 7,570,908 2,916,292
= 4,909,922
= 1,472,976
= 4,009,302
= 35,000
celgXiel X 10,487,200 7,570,908 2,916,292
= 4,909,922
=S 1,472,976
s 4,009,302
= 35,000




2A:
X XH -
o e

=aak

(L

SN - FH.

n

tRA(SIH) - HIRAY - BES

Ofl &F2H

H
ol &y

101 e124d|

HH W

m

10,107,450
4,738,897
1,421,669
3,911,884

35,000

7,213,508

—QI24H| (AtEI MY

—2E=2(2,731%)

43,817,000& +1&

Mo W

i

270,0003%2,2538 1104 &

Mo W

IAE)

750,000 x180Z 1004

MW

2,670,000 280

Mo W

143,080,000& 1

Mo W

536,886,000& 1

MW

bl

594,657 ,000&

43,817
43,817
13,409
4,022
9,386
17,000
10,063,633
9,468,976

6,691,410
3,345,705
1,003,712
2,341,993

1,350,000
675,000
202,500
472,500
747,600
373,800
112,140
261,660
143,080

71,540
21,462
50,078

536,886
259,443
77,833
181,610
18,000

54,657

48,662

7,164,846

N4,845

2,898,787

Mo W

159,100
100,000
30,000
29,100

195,000

A35,900

01 AtR22te|bl

159,100

195,000

A35,900




SN OISR D
M LOISXSA(MEIER/ L0l - HAH)
Rl =Rl KIRALE (Cre|: ®M2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Ool XA 2]
159,100,000& 159,100
= 100,000
[ 30,000
T 29,100
202 04l 3,900 12,000 /8,100
= 3,000
& 900
01 =LHOHI 3,900 12,000 /8,100
OLol ATRIAIY 2 018
3,900,000 3,900
= 3,000
= 900
206 MH=H| 38,000 356,000 3,000
= 17,500
=S 5,250
s 15,250
01 M= HI 38,000 356,000 3,000
Okl LRelAE MEHl
38,000,000 38,000
= 17,500
=S 5,250
s 15,250
301 22N = 168,820 115,400 53,420
= 45,560
= 13,668
o 109,592
11 #AIAHIXIE S 168,820 115,400 53,420
O=2z&sHl 167,820,000 167,820
= 45,000
= 13,518
o 109,242
Ozt=altl 250,000 43 1,000
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